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Colvmnlcectos : small letter to define
is also known

a column vector
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⇒ This is a column vector witha- I:) n elements
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(a) = [ hi , 22 .
- - . inn ] ⇒ This is a row vector

with n elements .
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MX n matin

TT
# of rows

# of columns

elcmmtoftt : the now number

the column number

Eixample : 9am = element sitting at 2nd row and

nth column

Aij = element sitting at ith row and

jth column
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• Algebraonmatnim

• addition
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G , = 9,3 1- biz
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( It columns of A) = ( A- rows of B)

D= B. ✗ A ⇒ # columns of B = # rows of AAxs Mxn
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[dij ] :[ I binary
.] ⇒ size of D= d ✗ n
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